[ B=1 =% |

FEMZEDIRERNRE

ek RERE

4 THOFEERAE (ZKEMEK) FE (-7.5m) MAEREXET



FEME (REANRRK)

[#st2 GREgmFR) |

8 SHOFEERAE (FREMR) B (-7.5m) #MARRE

47 HE &4 .
EiE R
1= 12,532, 786
B
1= 12,532, 786
WA
1= 12,532, 786
WA BEEHE 1,002, WEKMEE 100X, BHHE RBBR) 1.00t. EAHHHE EARK 1 00,
15 12,205, 700 BEFHE 1,005, EEfER 1.00st, EAKMMEETTIAER 1.005 4 T, HETER 100,
5% - 45 3. 00E., FEE 1003
EEEH EHMAE 1.0, XBARR 1,002
1= 327,086




FEME (EREEE)

[#zt3 (Emas |

H% SMOEEREE (FREHE) FE (-7.5m) MEPRE

B e £4 MR
EERME
1= 12,532, 786
EEAGE
1= 12, 205, 700
HERE
1= 327,086
Z Dt R {E
1= 6,572, 769
EREM
1= 19, 105, 555
—REEES
1= 10, 284, 445
ES AT
1= 29, 390, 000
¥ E I EMHE
1= 29, 390, 000




